Ages 7+ May 5, 2024 « 1 Corinthians 12:12-31

As all parts of the body are

0 important, so each one has an One in Christ
important role in God’s work.

As the human body has many parts and
all are important, so it is with

Use the words below to finish the rhyming story-poem. members of the Church.
eye see back made read tear ‘JDS Find and circle 10 different body parts. Write the
) o000[ 0 ol remaining 13 letters in order on the lines to find
‘I'm big and strong,” boasted the a fact about the entire body. Y€V P AR ¢ N
“l carry heavy books stuffed in a backpack.
But you are a weakling!” said the back to the H THETE B %
“You can't lift a feather, as hard as you try” » C AAY OD
The eye felt discouraged and cried a salty
But God wiped it away and said, “Be of good cheer— AR NECK [
I made you special. Be what you should be. M'E ODY N
You can’t lift bookbags, but the back cannot ___ . O G S I T E
What good is a book if it cannot be ? T NE O G E
You both are important!” God lovingly said. S I OE S A 2
“Do your own task. Do not try to trade. U F LN T T
Each part and each person is wonderfully ! é{ {:I}
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God arranged the parts of the body God has combined the members of the body

just as He wanted them to be. so that they can work together in harmony.
Draw a line between each body part and what it does. Use the code to read about how members
Then write the bold letter from each body part in the blank with of the Church should treat one another.
the number that matches the body part’s description. 2-A X=D HM=H X=L p=P =-T @=X
+=B #=E w=I %=M &=Q A=U O=Y
_ $=C d=F «%=J %=N I1=R %=V %=Z7
1) blinks \ hand =G V=K #=0 =5 =W
2) holds lips
\
3) shrugs \ eyes x B o8 1 0@
connects
4) arm and hand \ ears ¢ HB = A X X
5) smells brain
+ & X
6) speak nose
o OF Kk w € 9w == X
7) chew \ tongue
\ :
8) tastes R teeth ox % B+ 0 & O
9)see shoulder + A = % % @ D & 1 ke
10) hear wrist
¢ B < A X m % Xk &
11) thinks \ heart
\ # S A € X
12) breathe lungs @
\ ¥
13) beats eyelid )%/ eorox ¢ 8 1%
- | # € < N
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